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hallenge 1

✼
A cup of tea and three cakes cost £3.

✼
Two cups of tea and two cakes cost £3.60.

✼
Three cups of tea and one cake cost £4.20.
•
Fill in the table to show the cost of any
number of teas and cakes.
	Number
of teas
	Number of cakes

	
	0
	1
	2
	3
	4

	0
	
	
	
	
	

	1
	
	
	
	£3
	

	2
	
	
	£3.60
	
	

	3
	
	£4.20
	
	
	

	4
	
	
	
	
	


Challenge 2

✼
A magazine and two cans of cola cost £1.85.
✼
Two magazines and three cans of cola cost £3.15.
✼
Four magazines and four cans of cola cost £5.20.
•
Complete the table.
	Number of magazines
	Number of cans of cola

	
	0
	1
	2
	3
	4

	0
	
	
	
	
	

	1
	
	
	
	
	

	2
	
	
	
	
	

	3
	
	
	
	
	

	4
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